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1. (…) ‘©Û¤øÍ¬ÛÁéõ”ÛÛ ¼ÛÜÐü•ÛÛëÇ ÐüÛéýÛ ™öé.’ …ÛïèõÜ©Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 7 

   …¬ÛÈÛÛ 

  •ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ ˜Û˜ÛÛë. 

 (¼Û) Š©¸ÛÛþù¶Û¶ÛÛé Ü¼Û¶Û¸Ûó¾ÛÛ¨ÛÍÛÁõ¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé. 7 

    …¬ÛÈÛÛ 

  ÍÛ¾Û”Û˜ÛÙ Áéõ”ÛÛ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

  

2. (…) ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ Ðéü¥øÇ¶Ûà ¸Ûé§øà¶Ûà ¤æ×øïõÛ•ÛÛÇÛ¶Ûà ÍÛ¾Û©ÛäÅÛÛ ÍÛ¾Û›ÛÈÛÛé. 7 

    …¬ÛÈÛÛ 

  Ýïõ¾Û©Û ½Ûéþù½ÛÛÈÛ îýÛÛÁéõ ¶ÛºõÛïõÛÁõïõ ¼Û¶Ûé ™öé ? 

 (¼Û) Ü³ùÐüÍ©Ûïõ ˆ›ÛÁõÛ¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõÛé. 7 

    …¬ÛÈÛÛ 

  ÈÛé˜ÛÛ¨Û”Û˜ÛÙ¶Ûà ¾ÛÛ×•ÛÁéõ”ÛÛ ¸ÛÁõ¶Ûà …ÍÛÁõÛé ˜Û˜ÛÛë. 

 

3. ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. (•Û¾Ûé ©Ûé ˜ÛÛÁõ) 16 

 (1) ©ÛïõÁéõ”ÛÛ 

 (2) ÍÛà¾ÛÛ×©Û …ÈÛéœ÷¶ÛÛé þùÁõ 

 (3) Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ 

 (4) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛé 

 (5) ˆ›ÛÁõÛ¾ÛÛ× ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ 
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 (6) ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ•ÛÁéõ”ÛÛ 
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4. …éïõ-¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Û é ™ö) 12 

 (1) ÍÛ¾ÛŠ©¸ÛÛþù¶Û Áéõ”ÛÛ¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 

 (2) ÜÐüîÍÛ¶ÛÛ ÜÈÛÊÅÛéÌÛ¨Û¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

 (3) •ÛóÛÐüïõ¶Ûà ÍÛ¾Û©ÛäÅÛÛ …é¤øÅÛé ÉÛä× ? 

 (4) Ü•Ûºõ¶Û ÈÛÍ©Ûä¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 

 (5) ÉÛä±ù …¶Ûé ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛé ©ÛºõÛÈÛ©Û þùÉÛÛÙÈÛÛé. 

 (6) ©Û¤øÍ¬ÛÁéõ”ÛÛ¶Ûà Áõ›æ÷…Û©Û ÍÛÛíé ¸Ûó¬Û¾Û ïõÛé¨Ûé ïõÁõà ? 

 (7) ¸Ûé§øà …¶Ûé Š²Ûé•Û¶ÛÛé …¬ÛÙ …Û¸ÛÛé. 

 (8) ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶Ûà ÉÛÁõ©ÛÛé …Û¸ÛÛé. 

  

5. ¶Ûà˜Ûé¶ÛÛ ¼ÛÐäüÜÈÛïõÅ¸Û ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 (1) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÅÛ“Û¨Û ÍÛ¾Û”Û˜ÛÙ Áéõ”ÛÛ¶Ûé ÅÛÛ•Ûä ¸Û¦éø ™öé ? 

  (a) Þô¨Û §øÛÇ (b) X-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ 

  (c) µÛ¶Û §øÛÇ (d) Y-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ 

 (2) ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ Ðéü¥øÇ¶Ûà ¸Ûé§øà¶Ûà ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ Áéõ”ÛÛ 

  (a) X-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ (b) ¸ÛÛýÛÛ¶Ûé ÅÛ×¼Û 

  (c) µÛ¶Û §øÛÇÈÛÛÇà (d) Þô¨Û §øÛÇÈÛÛÇà 

 (3) •ÛóÛÐüïõ¶Ûà ©Û¤øÍ¬Û Áéõ”ÛÛ ÐüÛéýÛ ™öé  

  (a) Þô¨Û §øÛÇÈÛÛÇà (b) X-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ 

  (c) Y-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ (d) µÛ¶Û §øÛÇÈÛÛÇà 

 (4) …éïõ¼Ûà›Û¶Ûé ÍÛ×¸Ûæ¨ÛÙ ¸ÛæÁõïõ ÐüÛéýÛ ©ÛéÈÛà ÈÛÍ©Ûä…Ûé¶Ûà ©Û¤øÍ¬ÛÁéõ”ÛÛ¶ÛÛé …ÛïõÛÁõ 

  (a) ÍÛàµÛà Áéõ”ÛÛ (b) ¼ÛÜÐü•ÛÛëÇ 

  (c) …×©Û•ÛÛëÇ (d) ïõÛ¤ø”ÛæÜ¨ÛýÛÛ 

 (5) …¬ÛÙÉÛÛÍªÛ¶Ûà ´ùÜÌ¤ø…é ¤æ×øïõÛ•ÛÛÇÛ¾ÛÛ×  

  (a) ¼ÛµÛÛ ›÷ ÍÛÛµÛ¶ÛÛé ÜÍ¬ÛÁõ (b) ¼ÛµÛÛ ›÷ ÍÛÛµÛ¶ÛÛé …ÜÍ¬ÛÁõ 

  (c) ¾ÛÛªÛ …éïõ ›÷ ÍÛÛµÛ¶Û …ÜÍ¬ÛÁõ (d) …Ü¶ÛÜÊ˜Û©Û©ÛÛ 
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 (6) ˆ›ÛÁõÛ Ðéü¥øÇ¶Ûà ¸Ûé§øà¶Ûà ¾ÛÛ•ÛÁéõ”ÛÛ 

  (a) µÛ¶Û §øÛÇ¶Ûà (b) Þô¨Û §øÛÇ¶Ûà 

  (c) X - …“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ (d) Y-…“Û¶Ûé ÍÛ¾ÛÛ×©ÛÁõ 

 (7) …¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ¶ÛÛé ”ýÛÛÅÛ ïõÛé¨Ûé …Û¸ýÛÛé ? 

  (a) ¾ÛÛÉÛÙÅÛ (b) ËÛà¾Û©Ûà ›÷ÐüÛé¶Û ÁõÛéÜ¼Û¶ÍÛ¶Û 

  (c) Í¤øà•ÅÛÁõ (d) ˜Ûé¾¼ÛÁõÅÛà¶Û 

 (8) ïõýÛÛ ¸ÛóïõÛÁõ¶ÛÛ ¼Û›ÛÁõ¶Ûé ”ÛÛ×˜ÛÛÈÛÛÇà ¾ÛÛ•ÛÁéõ”ÛÛ¶ÛÛé ”ýÛÛÅÛ ÅÛÛ•Ûä ¸Û¦éø ™öé ? 

  (a) …Å¸ÛÐüÍ©Ûïõ ˆ›ÛÁõÛé (b) Ü³ùÐüÍ©Ûïõ ˆ›ÛÁõÛé 

  (c) ˆ›ÛÁõÛé (d) ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ 

 (9) ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶Ûà ÜÍ¬ÛÜ©Û¾ÛÛ× ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ Áéõ”ÛÛ ÍÛà¾ÛÛ×©Û …ÛÈÛïõ Áéõ”ÛÛ¶Ûé 

  (a) ¶Ûà˜Ûé¬Ûà ™öéþéù ™öé. (b) Š¸ÛÁõ¬Ûà ™öéþéù ™öé. 

  (c) ÍÛ¾ÛÛ×©ÛÁõ ÐüÛéýÛ ™öé. (d) …Ü¶ÛÜÊ˜Û©Û 

 (10) Š©¸ÛÛþù¶Û ÜÈÛµÛéýÛ ïõýÛÛ ¼Ûé ˜ÛÅÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ þùÉÛÛÙÈÛé ™öé ? 

  (a) Š©¸ÛÛþù¶Û …¶Ûé ÍÛÛµÛ¶Û ÈÛ˜˜Ûé¶ÛÛé  

  (b) ”Û˜ÛÙ …¶Ûé Š©¸ÛÛþù¶Û ÈÛ˜˜Ûé¶ÛÛé 

  (c) Š©¸ÛÛþù¶Û …¶Ûé ©ÛäÜÌ¤ø•Ûä¨Û ÈÛ˜˜Ûé¶ÛÛé  

  (d) …ÛÈÛïõ …¶Ûé Š©¸ÛÛþù¶Û ÈÛ˜˜Ûé¶ÛÛé 

 (11) ïõýÛÛ ¼Û›ÛÁõ¾ÛÛ× ¸Ûé§øà…Ûé¶Ûà ÍÛ×”ýÛÛ …Å¸Û ÐüÛéýÛ ™öé ? 

  (a) …Å¸Û ÐüÍ©Ûïõ ˆ›ÛÁõÛé (b) ¸Ûæ¨ÛÙ ÐüÁõàºõÛˆ 

  (c) ˆ›ÛÁõÛé (d) ÉÛä±ù ˆ›ÛÁõÛé 

 (12) ̧ Ûæ¨ÛÙ ÐüÁõàºõÛˆ¾ÛÛ× ¸Ûé§øà¶Ûà ÍÛ¾Û©ÛäÅÛÛ¶Ûà ÜÍ¬ÛÜ©Û¾ÛÛ×  

  (a) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ ≠ ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ (¼ÛÁõÛ¼ÛÁõ ¶Û¬Ûà.) 

  (b) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ < ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ (…Ûé™ä×ö ™öé.) 

  (c) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ¬Ûà ÈÛµÛä ÐüÛéýÛ ™öé. 

  (d) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ …¶Ûé ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ÍÛ¾ÛÛ¶Û ÐüÛéýÛ ™öé. 
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 (13) ̂ ›ÛÁõÛýÛäî©Û ÐüÁõàºõÛˆ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ‘›æ÷¬Û’ ¶ÛÛé ”ýÛÛÅÛ ïõÛé¨Ûé …Û¸ýÛÛé ? 

  (a) ›÷ÐüÛé¶Û ÁõÛéÜ¼Û¶ÍÛ¶Û (b) …é›÷ÈÛ¬ÛÙ 

  (c) ÜÁõïõÛ¦øÛë (d) ˜Ûé¾¼ÛÁõÅÛà¶Û 

 (14) ̂ ›ÛÁõÛ¾ÛÛ×, ÍÛà¾ÛÛ×©Û …ÛÈÛïõ …¶Ûé ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ ¼Û×¶Ûé –Û¤éø ™öé, ¸ÛÁ×õ©Ûä 

  (a) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ, ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ¬Ûà ÈÛµÛä ¡ö¦ø¸Ûé –Û¤éø ™öé. 

  (b) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ, ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ¬Ûà …Ûé™öà ¡ö¦ø¸Ûé –Û¤éø ™öé. 

  (c) ÍÛà¾ÛÛ×©Û …ÛÈÛïõ, ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ ÍÛ¾ÛÛ¶Û þùÁéõ –Û¤éø ™öé. 

  (d) Š¸ÛýÛäÙî©Û •Û¾Ûé ©Ûé …éïõ 

________ 
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1. (a) ‘An indifference curve’ is convex to origin’ – explain with diagram. 7 

OR 

  Discuss the consumer’s equilibrium. 

 (b) Explain the law of variable proportions. 7 

OR 

  State the characteristics of Iso-cost curve. 

 

2. (a) Explain the short run equilibrium of a firm in Perfect Competition. 7 

OR 

  When is price discrimination profitable ? 

 (b) Clarify the concept of Duopoly. 7 

OR 

  Discuss the effects of selling cost on the demand curve. 

 

3. Write a short note on (any four) : 16 

 (i) Budget line 

 (ii) Marginal rate of substitution 

 (iii) Production function 

 (iv) Oligopoly 

 (v) The equilibrium of a firm under monopoly market 

 (vi) The Kinked Demand Curve  
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4. Give short answer of the questions (any six) : 12 

 (1) State the characteristics of an Iso-quant. 

 (2) State the assumptions of Hick’s analysis. 

 (3) What is consumer’s equilibrium ? 

 (4) Give the meaning of ‘Giffen goods’. 

 (5) Give the meaning / State the difference between pure and Perfect Competition. 

 (6) Who explain first ‘The Indifference Curve’ ? 

 (7) Give the meaning of a firm and an industry. 

 (8) Give the conditions of a firm’s equilibrium. 

 

5. Give the answer of multiple choice questions : 14 

 (1) Which of the following is the feature of Iso-cost curve ? 

  (a) Negative sloped (b) Parallel to X-axis 

  (c) Positive sloped (d) Parallel to Y-axis 

 (2) The average revenue curve under Perfect Competition market  

  (a) parallel to X-axis (b) Vertical to scale 

  (c) positive sloped  (d) negative sloped  

 (3) A consumer’s Indifference Curve is  

  (a) Negative sloped (b) Parallel to X-axis 

  (c) Parallel to Y-axis (d) Positive sloped 

 (4) If two goods are perfect complementary to each other then the shape of 
Indifference Curve is 

  (a) Straight line (b) Convex 

  (c) Concave (d) Right angle 

 (5) In Economics, short runs refers to 

  (a) All factors are fixed (b) All factors are variable 

  (c) Only one factor is variable (d) Uncertain 
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 (6) The demand curve under monopoly 

  (a) Positive sloped (b) Negative sloped 

  (c) Parallel to X-axis (d) Parallel to Y-axis 

 (7) Who developed the concept of ‘Imperfect Competition’ ? 

  (a) Marshall (b) Smt. John Robinson 

  (c) Stigler (d) Chamberlain  

 (8) Which market faces a Kinked Demand Curve ?  

  (a) Oligopoly (b) Duopoly 

  (c) Monopoly (d) Perfect Competition 

 (9) In the equilibrium of a firm the marginal cost curve ________ the marginal revenue 
curve. 

  (a) cuts from below (b) cuts from above 

  (c) is parallel to (d) uncertain 

 (10) The production function state the relation between which two variables ? 

  (a) Production and factors  

  (b) Cost and production 

  (c) Production and utility  

  (d) Income and production 

 (11) In which market the numbers of firms are a few ? 

  (a) Oligopoly  

  (b) Perfect Competition 

  (c) Monopoly  

  (d) Pure Monopoly 

 (12) In the condition of a firm’s equilibrium under Perfect Competition 

  (a) Marginal Income not equal to Marginal Cost 

  (b) Marginal Income is less than Marginal Cost 

  (c) Marginal Income is greater than Marginal Cost 

  (d) Marginal Income equal to Marginal Cost 
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 (13) Who proposed the term ‘group’ in the context of monopolistic competition ? 

  (a) John Robinson (b) Ageworth 

  (c) Ricardo (d) Chamberlain 

 (14) Under monopoly, marginal revenue and average revenue both are declining but 

  (a) Marginal Revenue falls more rapidly than average revenue 

  (b) Marginal revenue falls less rapidly than average revenue 

  (c) Marginal revenue falls at the same rate as average revenue 

  (d) Any one of the above 

______________ 
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